[,esson (—/O 3& 37 59 Aue 40n;h'f, 3?/ ‘7’0/ 4/ Wed next
C‘(l hever duc)
IZ&COYV{M oﬁ Web Ex OQEHV‘ on l%me 74 hz)(’l‘

J

4"\7 %wuworl( [/ ﬂséiﬂhun‘l'
> Plo%zoi ( exp (x) 505(7)/ x=-2..2 ;:0’ ’ G*P[))'
P 566 . 19. gerara‘lion oL variables Prob. (/\/o‘f D;Neméen‘g)

|2.10 La'olncjﬁm n fo/m coord .

A ;)w 3(4,)‘4+,L94+L3‘4
U= 2")r rdr ' r’ 2%~

¢
?.27/5 Q4Lc.

4) A(,a/y A rn Fp[qr taor//s ’/”D

rm(asn@ andl v Sn nB.
649\# ’Menﬂ A 0

b}@k) M(T/ﬁ = 4, 1 f@r[osn@q”énr fmnﬂ)

4(60 6416@65 ﬂb{/ﬂ oh o/fsc,



( it s \)‘457L' 10'54 9 me devivatives
undey Z/ ) = r= |
q/

(’ 0Y = 4, +fﬁtn Cos O+, §h9)
=f

ls \)wf/' 7 meer Sevies , If I Wan%%g
dve the ﬂ/n ohe’lP (]9r01¢ on The unit p{/SL/

A\A/O insi ofﬂj w((/93,w0(9 iven

(=00a) , then (X] does T
Lessom Lf( I:L? Heant’ V?rah/imi M /Wy wires,

N
Uémde Fumar (mms«grm «p/N gj +0 So/\/&
heat ()rob&ms (W\SM,/mpr{ ena{ iced em( no eno/)
e [essons ’5/ 32 .
ﬂo’}‘ wlini e w7r¢/ ;7\/614 nitial %em/o,
{ — u(ﬁg%):—/ew/o

o

M 2y . B
QT; C )’;l ?/us lm‘er( (aw%) M(A;D)/ »Q[?(/

/\/&"\/ “/rm‘wb\; 54,94(47[& l/avfﬂé/fs, Laok —@r




sl ulxt) = X)), Gt

X'

— = — p— ’?\ CD”S%,
/
X "
No  condi+ions  on ﬂf C,&‘lL more_

6D{h5 ‘H'mw[ when Wt haﬂ’{ BCS¢
2
Look ot WTZ;/;”} sol's. Let A== W (7\40)'

XN’I'WQX = (0 m/ﬁ W’ [//7
—cw L
KX\ 24 Coswx + 5 wx M=k e

Cw+ 90/ (4(9('53 @ (osw;('F’B §AWX> ~Cw'd
2/3 /ﬂléq /VO f¢$‘/'/fc+’om In w,

#w: mm, R emnnn sum s a lintar comboo a'ﬁsa/“_

czwz‘t'
é(ﬂ%&s X +’5(N)§,,,Wx> AW
coe LL MM J/

(XS ub(/'t/) = ‘Yo (A(VJ) (os wx f’g(t'\/)g'\w()écw;&/
Iﬁ q,[( }of/S W&l(/ 4TS w:/// SOZVé ?DC/’W'J we



can d/’ﬁ‘p "“44(}’~ J) ’7«7 Qé-& 7‘/461,71/ Cam ;o/l/c,

W-vr/’

TC  ulx,0) %P fﬁcw) Goswx +B(x) S ol
Ahe!  This s Just Ane Fourier Tokyd B £ -
A= 5] 20 Csun dy
Blw) = % S PO Gon v Ay

?,S?‘{: 1-5. st LA Alw) and BLS) L
27\1614 'p ond p/u; + o (ff)

d. ~P(’>():/ f —4zx<zag and O otherwie.
AG)=£ ] L Gov by =2 [LSnn]

'

- g \/""Q
a
BwWY=2]" 19wV o =0 mer 4
-9 ) 0 SymmetriC
Ve 0610{ wittrve (
00[01 alyout O

/Eewuwk C"V\ oAv Cov cu MS ’Ilo G/t’m\ 44 (%)
ubx t) = ,7&@ y £) e — -V )0{‘/




27 2
ulxt) = é, _y Plx+3c2 () & ° de
o

/,655014 Ltl [lq \/;IO/M'ILTM? Sjuhre/ memér&ne _

’(:> = MITSf /ﬂccmff’

U /4
20 > ulx
7\/1_\\ 7 ZX Z ot olyam
L at [27/) a+
‘ime T

2
P/\yﬁc; 5 J%:% = c,lA Vi Poc

B uyu=0 on e/{;ﬂs
IC/ Tn}vl'm( sAaﬂ! rm/ slutu/ o/’ Jrum Zzeaa(,

{erﬂq/oy(ﬂ, Wur?nb/és z ué)(,y;f) 5X(X)Y[7)W(%)



